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PART - |
GENERAL KNOWLEDGE
& TEACHING APTITUDE
. Inthe recent 16th Loksabha election, no.of
seats won by the NDA Alliance?
165 %608 dPBSE ATED Mol BgreH
oDodS bew
1. 274 2.298 3.335 4.343
. Recently, who resigned as Bihar Chief
Minister?
1. Narendra Modi 2. Nitish Kumar
3. Akilesh Yadav 4. Lalu Prasad Yadav
2d58 DiFE SwagErol@me crdarir BVSTE
1. $Board 2. AT HEr6
3. ©PBR ESS 4. ror@IE SrSS
. National youth day?
1.Jan-12 2. Feb-12 3. Mar-22 4. May-21
80D SSSesd &Sse‘én)aéo.
1. e85 - 12 2. D@58 - 12
3. &0y - 22 4.3 - 21
. In which year did Mother Teresa receive
nobel peace prize?
O Bons® H35FoFEH FFBS 7008 ws0HS
©8ood?
1. 1968 2. 1979 3.1983  4.1998
. Which satellite was placed in the orbit by
PSLVC-24 ?
PSLVC-24 oooe (B@rhosads ebdikseo.
1. IRNSS-1A 2.IRNSS-1B
3. EDUSAT 4. RISAT
. The main aim of “mid day meals programme”
in our country is
1.to attain Universalisation of primary education
2.to encourage womens
3. to help for self-help groups
4. to give tasty food to students
PN AL (TN OOHHY) “W05rEgS) SPexd H$Bo”
08 eé%ego
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7. Theratio of teacher to student for classes
6th to 8 th according to RTE Act-2009 is
DaegssEy, ©560-2009 (©s°80 6 Lok 8 S8
éﬁm@gdﬁo, EDCP?SQ DH8
1. 1: 30 2. 1:35
3.1:40 4. 1: 45

8. How can you prevent students “absentism”
1. by informing the parents of the students
2. developing personal relations with the

students
3. by conducting special programmes in
school
4. by giving punishment to the students
Féwos® Durgde fozetid $hoid deeso
L. derghoe $PBoELOE JSIrPTPTR)) ©ohothed
2. 8)?:5‘323663)658 K020057°0 BHHELDE K0
3. P’ @%é e85 ESren DEErothHey S
4. dregaed 8880 3Zoes

9. Which of the following should a teacher

achieve to be a successful teacher?
1. subject knowledge 2. training inteaching
3. as many qualifications as possible
4. a strong desire to teach
2.8 &aPeRgo0, ézﬁ;gzﬁoé@é AL v gL
TPROTPO0E
1. DRSS HBepo SoardosEo
2. SPsS it &0885%0
3. dBIY DegB B 20585580
4. oo poRd 868 EOA Goito
10. The organization “NCTE”
1. is related to technical education
2. is related to the study of health
3. is related to teacher - education
4. is related to school - education
“NCTE” éoé B8 $5020050D3.
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PART -11 (A)
GENERAL ENGLISH

11. When he was asleep his cousin came into
his room.
(find out the parts of speech of the underlined

word)

1. adjective 2. adverb

3. preposition 4. pronoun
12.1..... since yesterday.

(Identify the suitable verb form)

1. do not eat 2. have not eaten

3. did not eat 4. had not eat

13. Which of the following sentences in correct?
1. He is too tired to go on foot
2. He is too tired to have gone on foot
3. He is too tired going on foot
4. He is too tired to be going on foot
14.1fhe....... here, | would introduce him to you.
(choose the right answer)
1.came 2.hadcome 3. willcome 4. comes
15. He has not paid the examination fee.
(choose the correct passive form)
1. The examination fee has not paid by him
2. The examination fee has not been paid by him
3. The examination fee was not being paid by him
4. The examination fee was being paid by him
16. The doctor asked the patient, “What did you
eat today?’
(choose the correct reported form)
1. The doctor suggested the patient what he
had eaten that day
2. The doctor advised the patient what had
he eaten that day
3. The doctor enquired the patient what he had
eaten that day
4. The doctor questioned the patient waht he
had eaten today
17. You are responsible ..... the faults.
(Find out the correct preposition)

1.in 2. for 3.10 4. with
18. ...... wisdom is the gift of Heaven.

(choose the correct article)

1.A 2.An 3.The 4. None

19. Inspite of his weakness, he walked five miles.
(change the following sentence into compound)
1. He was weak so he walked five miles
2. He was weak and he walked five miles
3. As he was weak, he walked five miles
4. He was weak but he walked five miles

20. Find the wrongly spelt word from the following.
1. receit 2. liquor
3. leisure 4. kerosene
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cAhlathematics club has 15 members who are

experts in Mathematics fon Statisticsron bath.
If10 are expertsin Mathematics and 2 in statis
tics, how many are experts in both™
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G.The curwed surface area ofa olinderis
220 m*. M=sradiu=i=25 m, Theheight ofthe
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simpleinterest is......
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53,1505 3...... oo 180 4

1. rational number 2. natural number 3 Te=338'F 4. Hone of these (D0m)

2 zurd A whole number G7.In a compound,theratio of masses ofthe

1.5 e elements iz alvways constant and i=s
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3. Hud 4. Jry Hog, 1. Lawof constantproporion
g0 logQ. log2=__ 2. Lamof conservation ofmass

1.2 2.1 3.4 4.4 3. Lawof multiple propotion

PART - Il {E} 4. Lawof identify proportion
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E5. The gas u=ad in adificialripening offruitsis.

1. Methane 2. Butane 2 Ambdens S Hydrogen

2. The dioptic powerof a lenswhose focal length
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PART -1IT(C)
BIOLOGICAL SCIENCES

While playing in the garden Vijay was bitten by
a snake. Immediately Malini saw that, and run
away with shouting fear. But within 10 minutes
Vijay got the respiratory problem.

From above conditions, which is the incorrect
from the following sentences.
1. appear many identification marks, on the site
of bite
venom effected the nerveous system of Vijay
Vijay fear from the shout of Malini and got the
respiratory problem due to fear
4. Venom effected the circulatory system of Vijay
Qe 93 erendd 8% ethrotnodre, wEd8
FED SENFV0B. VoW BB (D &I HPO
%), Ben Jdr HSrHen EVod. wowd Jedd
10 d5wares®s 7% SE°SKo S5 wyod
DHBTN.
P 0085085 Ko20608) HO5° A
1HBosod.
1. Qe soen FS ey B rHisen EQ)T 0w
2. Qudud Sore 26526“)25)65 DA @a}vzéo 800
3. £ I, o Ded FOHHE, 'sﬁg(o
5855506 208 HEHBHTNED
4. Desdod BE(H08¢es B85 o5 DADHeS0
LBroDod
1.A,B,C.D 2.AB,C 3.A,B 4.A,B,D
72. Chemo receptors present in this following parts
1. tongue, ear 2. ear, nose
3. nose, tongue 4. skin
BJoHnS (s Seeen (Bod ©50HH08° Hotran.
1. o0, B 2. B, &y
3. S0¥y), Trend 4. 66&0
73. The plastids present in flowers, which are in red
colour
1. Leouco 2.Chloro 3. chromo 4.2 &3
B Haryws® ok Sgseen

71.

2.
3.

1. %S 2. g°® 3. 83 4.2&3
74. Cancer of Lung is called.

1. Carcinoma 2. Sarcoma

3. Leucamia 4. Marsania

&3008HH B 53 ) %500

1. 50\ 2. &%

3. eng Qoose 4, zﬁﬁ%@o‘ﬁp

75. The plant utilized water percentage from absorb
of total water.
30%) (180D HAS® Do BBo S(BD &5
OIITOL T8 0e0H.
1.2% 2.4% 3.12%  4.20%

76. The WBC destroying by HIV virus are
1. Monocytes 2. Lymphocytes

3. Neutrofils 4. Acidofils
HIV 388 RT"%ESO Sfousy Be 88 Segeen

1. a;oss . ‘é)oa?ﬁs

3. zﬁnveg@ﬁ’sq)ei) 4. ‘D(oﬁsqaei)

77. |dentify the right sentence from the following
1. Rybosomes are made up of DNA and
protiens
Procaryotic cells are made by tough cell wall
and contain
Mitochondrias contain small amount of
proteins, and covered by two membranes
4. Cytoskeleton giving mechanical support to cell
Bod 5 o IBS @A HBoHod.
1. Be*RFoen DNA 5065 @S58 D8y Eaeon
2. éo@é I8y Beren G Beo deSo D&
dosl, Sol¥o 20&3326&1’? =Tl )
3. BePolBTS @G ¢ 5 Iwzres® eod, 2
S T )b zé)oéyow
4. B3 2T OET 006 cirolBY erFTRron
78. The flower can be fresh by this plant harmone
1. Auxin 2. Cytokinin 3. Gibberellin 4. ABA
R0 Boerre Hothey Voo IwEe HEHS
1 e85 2 RE'EE 3.26)695 4. ABA
79. |dentify the correct sentence to vitamine destroy
by heat
1. chemical name is calsiferal
2. present in citrus fruits
3. help in collagen formation
4. not reason for scurvey
38 TR 8808 DT IBD 5% HBoS0s.
| B oo &) qaovef
2D Hereod® STARGH ot
Feras Sogams &)k
0By %568 s°8e0 59t
. 1,4 2. 2,3,4 3. 2,3 4. 1,3
Identlfy the correct series in miosis, prophase-1
1. Leptotin, Zygotin, Pachetin, Diplotin, Diakinesis
2. Leptotin, Pachetin,Zygotin, Diakinesis, Diplotin,
3. Leptotin, Zygotin, Diplotin, Pachetin, Diakinesis
4. Leptotin, Diakinesis, Zygotin, Diplotin,Pachetin
BoHE8es D5exdS® (Bod aS® (B $8-16%
:0826 (Boo KHdoBod.
1. SPES, BPBS, 2885, BFAS, $a5-33VD
2. BRB5, 8ES, BRES, KBS, &ssés
3. BR85S, FPAS, B85, 18ET, CoirIaRS
4. BRES, KorgInE, BAS, 83PES, S
PART - 1lI (D)
SOCIAL STUDIES
One of the following is not the objectives of
Indian planning
1. Economic growth with stability
2. Economic growth with distributional justice
3. Economic growth and pollution control
4. Industrial development and employment
& [Bob &S® DB B (DerdSe oFgo So%?
1. Kw?oééé EOAI eeaé Feleblatlal9)
2. méo&(oaé:éé HoHBE @Gé Fslevlavald)
3. @Gé Folelatlal9) S°em>§€00‘500@§89
4. ﬁ@@&éé@@ SRR
82.Which is the Employment generation programme
K)tﬁ)ﬁ%ﬁ DB HEso d6?
1. RWP  2.NREP 3. RLEGP 4.UBS

2.

3.

'—‘PPJ.N'—‘

80.

81.




83. GNP at market price.
S=B)e5 B80St & Spe a‘?écﬁme‘é‘g@
1. C+l+G+(X- M)
2. C+l1+G+(X-M)+(R-P)
3. C+l+G+(X-M)+(R-P)-IT
4. C+l+G+(X-M)-IT+S
84. Return for labour

1.wages 2.interest 3.rent 4. profit
55 (D8P0
1. 3850 2. zﬁé 3. P80 4. orgio

85. When the demand and supply are equal,
the price is
1. Market price 2. wholesale price
3. Equilibrium price 4. None of these
DR, Erol SrSore DK 8 ADHB0d

1. &m0 55 2. &% §38
3. Q&g &8 4. b=
86. Alai Darawaza was built by.
1. Balban 2. lltutmish
3. Shersha 4. Allauddin Khilji

BOGH B AB)oN0h JNB>?
L S 2. oSSR 3. 2o, 4. ©erHES H
87. Annie Besant belonged to which country?

1.lreland 2. England 3. ltaly 4. France
©D0ET D BI8 BodKe.
1. ogrof 2. morpo& 3. m@d 4. (9K

88. The Ems telegram led to
1. Polish insurrection 2. Austro prussian war
3. France - Prussian war
4. Prussian - Denmark war
ADBO[PD $050e (Bod o‘fméﬁoés SnEHE sob.
1. 80K ©0BL5E0 2. @@5@“)?’.155 o‘fmc‘.ﬁo
3. (gros® (S o‘fwéﬁo 4. @@5 a0

89. After Sepoy Mutmy
1. The East india Company was abolished
2. The permanent Revenue System was

withdrawn

3. 1Tand2 4. None of these
o Bt Bnd) HOS0 J6?
1. & 20805 $0d 8&f
2. @é&e‘é%m c‘OtSo‘Sa Qac‘g@ E5H055em
3. 1 805 2 4. bzt

90.Who was contemporary to Mahavira and Buddha
1. Confucius 2. Laotze
3. Homar 4. Varizel
0BG, ewciqg& RBooE) HX0SPOBD IS?
1. 852008 2. oSG
3. Pesb 4, zégef

91.The proportion of the land area on the earth’s
surface is about
&S 080 DYLLINE® porre e, Lodrdorr
1.71% 2.36 % 3.29% 4.92%

92. The following country exports both teakwood
and rice to the world market
1.India 2. Bangladesh 3. Srilanka 4. Thailand
55, 56081 Bo&oBY (HHosBTeH BEVRIg
D58 T Bdo
1. gP888F0 2. orees 3. good 4. gedherod

983. Cyclones forming in the Indian ocean are called as
1. Cyclones 2. Typhoons
3. harricanes 4. Willy-Willy
ot i Sxw(Esost DEE SEararen &
Do HedRB?

1. 2&%0en 2. BHrSen
3. HO8Se 4. 29-2
94. Match the following. 2380BB0&.
Schme H$8o State oo(go

1. Ramganga oe&oiore
2. Hirakud &roe&
3. Gandak K0&8

a) Orissa 2.6:r)
b) Uttarpradesh &8558
¢) Madhya Pradesh
BRI
4. Chambal Soa& d) Blhar D6
1.1-a2-c3-d 4-b 2.1-b2-a3-d 4-c
3.1-d2-c3-a4-b 4.1-c2-b 3-a4-d
95. An organisation which prints the India’s physical
and political maps?
1. central statistical organisation
2. survey of India
3. Govt. of India
4. Geographical society of India
ePESBE HerPed zﬁw@oéa ©BE B
1. Sol& Kewod D 0% 2. $0g @ ao&o‘fuo
3. K50 & BoBe 4. eg°6é§ FROE R
96. The speaker of the legislative assembly
1. has got one vote 2. has got two votes
3. no power to vote
4. exercises casting vote in case of a tie
Qrd08s HgrHdé
1. 28 &0 88 G0t 2. Botd L.én 8 Gokrd
3. eHen L. 36HE 4. K)Uc’oﬁ)éog) 5,62 3@%‘,3
97. Which fundamental right safeguards the
interests of the minorities as to develop their
language and culture?
(P 0E &é)&e)@’sio o) 500 weKdoge
Soren $5 &Par, O NORY @&é@& SN éfﬁ){)
1.Art23  2.Art25 3.Art27 ° 4. Art-29
98. No.of Articles at present in the Indian
constitution.
(@80 S U°a°§oﬁo6s &3 (BSeaen.
1. 395 2. 443 3. 478 4. 525
99. The estimate power in democracy vests in the
hands of.

1. Governament 2. Political leaders

3. People 4. All of the above
@w@g&:ﬁa&oé’s OEEHE ©HFB0

1. (©b&0 2. ool TrahsHen
3. (Hezew 4.3 PBoRER

100.Which of the following courts has got the power
to award rigorous imprusonment for six months
and a fine Rs.5007?
1. Sessions court 2. Munsif court
3. First class magistrate court
4. Second class magistrate court
SHEPTPO EBIBE O &, 500/~ HELH
285 DBOD wWHSBo Ko §563
1. 288 8% 2. S0V &%

-3

Be

3. PR TR Eba%@éﬁ 556; 4. 280 5 >
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